
Repair Parts
Airborne Filtration System

Model Number AF30000

1

2

3

4
5

6

7

8

9
10

11

27

14

15

16

17 18

19
20

21
22

23
11

25

24

29

26

13

25

2528

12
13



Repair Parts
Airborne Filtration System

Model Number AF30000
Always order by Part Number - Not by Key Number

* Standard Hardware Item - May Be Purchased Locally.
** Standard weather stripping (purchase locally)
† These replacement parts are available where you purchased your filtration system.

Key 
No. Part No. Description

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
—

825946-4
825950-2
RF3001
RF3002
826424
824311-1
826375
169123-9
824288
824292

*
824290
825955
816345-1

**
*
*
*
*
*
*

824300
*
*

826041
824597-1
825941-4
825941-5
826152
SP6154

Cabinet
Cover

† Pre Filter - Intake
† Fine Filter - Mid Bag Type

Filter - Exhaust
Blower Assembly
Cord Assembly
Strain Relief
Light
Switch Assembly
Wire Connector
Clip Wire
Nut Self Ret. #8
Hex Nut Flange1/4-20
Gasket 1/8" Max. Th. x 1/4" x 9"
“S” Hook 1-1/2"
Screw Hook 1-9/16"
Eye Bolt 3/16-24 x 2"
Hex Nut 10-24
Lockwasher #10
Chain, Double Loop
Spring, Extension 1-1/4"
Clip Wire
Screw, Pan Hd. Type “C” 10-32 x 1/2"
Screw, Truss Hd. Ty “B” #8 x 3/8
Screen, Blower
Door Filter
Door Filter
Seal Mohair
Owners Manual (Not Illustrated)
12


	AF3000
	Part No. SP6154 Printed in Canada
	Table of Contents
	IMPORTANT SAFETY INSTRUCTIONS
	SAVE THESE INSTRUCTIONS

	Unpacking and Checking Carton Contents
	Installation Procedure
	1. Select location for Airborne Filtration System. Unit should be installed with the side opposit...
	2. Joists are normally sixteen inches apart. Spacing of holes on width of unit is 19-7/16", and o...
	3. Unit weighs 40 pounds so suspension should be from center of ceiling joists only.
	4. When you have selected the location for your unit, use a pencil to mark the four suspension po...
	5. Install the four screw hooks in the pilot holes up to the start of the curve as shown on page 6.

	Installation Procedure (continued)
	6. The next step is to install the eye bolts in the top of the unit. To do this, you must remove ...
	7. Remove the fasteners holding the filter doors (2) against the side panel of the unit. Pivot th...
	8. The Pre Filter (intake) slides out of the channel in the cabinet.
	9. To remove the fine filter (mid bag type) slide filter out about 2" to the left. Push right end...
	10. The exhaust filter slides out of the channel in the cabinet.
	11. Install a hex nut on an eye bolt until 1/4" of thread is showing below the eye. Slip on a loc...
	12. Slip lockwasher and hex nut on eye bolt as shown. Repeat for other three eye bolts and then t...
	13. Filters can be reinstalled at this point.
	14. Reinstall filter cover plates by slipping tab into slots in end frame, then pivot to side pan...
	15. To suspend your unit at the minimum height, five double loop sections of chain are required (...
	16. Place “S” hook in bottom link of chain at four suspension points.
	17. Lift cabinet up, with help and connect “S” hooks to eye bolts at four points in cabinet.
	18. Connect extension springs to “S” hooks. Push unit up and connect upper loop of extension spri...
	19. Unit is now hung from the ceiling as high as possible. If you prefer the unit to hang lower, ...

	Electrical Requirements
	Electrical Requirements (continued)
	Operation
	Maintenance
	Maintenance (continued)
	Wiring Diagram
	Repair Parts
	Airborne Filtration System
	Model Number AF30000

	Repair Parts
	Airborne Filtration System
	Model Number AF30000


	Part No. SP6154 Form No. SP6154-1 Printed in Canada 2/99



